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All qlues'rlx

‘Attempt all the questions from Sectio
Draw neat labelleq

All working including rough work should §
intended marks for question or

ons.are compulsory. . " |

1 Attempt ANY FOUR quesnons ﬁ'om Section Il
diagrams wherever necessary

' done on the same sheet as. .the res! of the answer. The
parts of qucsnons are ngen in bliackets [ ]

Questlon 1:
a) Name the followmg

i)  The movement of plant parts |n rasponse lo moisture.
ii) Blood vessel carmrying deoxyg
iii)  Part of the brain controlling lhla masler gland.
iv)  Phenomenon by which the |
~ attraction.
V)

- .b) Choose the correct alternative ar

Section | (40 Marks).

]
!
|
]
]
i
a

bnaled blood from heart to the lungs.
l

vmg or dead planl cells abs!orb water by surface

Cell division in which one parent oell divides into two identical daughter cellf'

8

d complele the following sentences
' !

i) is not the nomal conshtuenl of urine. i
1) ‘Sodium chloride 3) Glucose!
2) Uric acid 4)7_Crg_altmin,e
ii) | isfare the stplozﬁ(s) shown by a person ihaving exophthalmic
goitre. H 11 '
1) Protruding eyes 3) None ; .
2) Decreased heart beat ‘ 4)jmh_1_an:«i_
i) Lamarck's theory of evolution [s based on ;
1) Use and disuse of body pars _.' _ 1
2) Aoquinng new characters '
3) Inheritance of acquired cthgc‘ers )
4) Allof the above. . } .
iv) Ponsisapanof_ ‘ |
1) Forebrain 3) Spinalcold
2) Liver 5 4) Hindbrain
v)  Which of the following islare e) cre*my organ(s)? ;
1) Sweat glands ' ! 3) Cemmlnous glanc?s
2) Cowper's glands : i 4) Pancreas
|
i
s 1’ ol
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c) State whether the following stalements are vtru
form of the statement by changing only the | iu
- Humldity and {ranspiratlon are Il"BCﬂ! pro arti

)

il)

i)

d)- Slate the maln functh of the followmg
__Nucleus .

_Chlomphyil pigment

Lenticels

-‘fCQrpus callosum

~ Amniotic fluid

i}

i)

)

. )

v)

e) . Complete the follomng pairs to represent th
~ activity and the structure responsible. 1 ot
Example: Antlbody productlon and Lymphocyt&f;;; Cmediale -

i)
it)
ii)
iv)
v)

i)
ii)
ti)
iv)
v)

‘The dark reaction of pholosynlhems is light

fa:'ﬁﬂ. ffifélée"rewﬁte the correct

(5]

The two arms jof a chromosome are ca_

Deafness IS caused due to the ruptun

".“‘:TGestat:on is the process of ﬁxmg of the blas{ocyst to the tenne wall.

[5]

:""relabonshlp between the functional
5]

Blood clotting and
Regulate closing and opening of slomata and
Maintaining temperature for spermatogenems and __
Diffusion of oxygen to foetus and :
Initiation of cell dms:on and

ﬁﬂ?.’.KA_BOOK DEPOT

) Differentiate between the follow:ng pairs wu(h r_aference__ld_tl'ne aspect in brackets: [5]
_ Osmosis and Transpiration (Deﬁmhon) e & -

Myopia and Hyperopia (Coirection)
Gout and Kidney stones (Explain the oo'pdiﬁon)
Auxins and C{rlokinins (Site of synthesis)
Tricuspid and;Bicuspid valve (Location)

g) Match the items'in column A with those \hhich are ’moé‘t"app}b\pﬁé'te in column B.

You must rewnte the matching pairs: : ' [5)
CDIu:mn A . .| ColumnB 1

Tiuieal phase a) 'S‘teddmﬁ'ofendomeu'lmrnhmg -

ii. - { Follicular phase b) | Onset offmenstruation '

h) Give reasons:

i)
i)
iii)
iv)
v)

iii. . | Menstrual phase c) | Rupture pf Graffian follicle
iv. |Ovulatory phase : [d) | Thickenipg of endometrium

V. |Menafche phase | e) | Formatidn of corpus luteum
g .

i
i

i (5]
Bean seeds Jre soaked in water before: : '
Xerophytic planls like cactus have thelrllea
Depletion of dzone'layer is a serious proble
Barrier methods like diaphragm are effectivh methods of contracephon

OVerproducU?n is dn important featu:e of living bélr_\gs.

modified to sblnes
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Attempt ANY.F
Question 2: ’
a) On a bright sunny day water

giving off a gas.

Name the physiological pro}

Define the process mentior

Write the test that can used
Whalt change will you obse
bicarbonale is added o ﬁ
answer.

b) Study the diagram given 'below

LL

i-

-

Name the parts labelled 1,
Name the region in the k
present.

ili. Whatis the collective term v
iv.
Why is the right kidney al a

quesﬂon 3:

i

! , ' I,
and answer the following questions.

dney where the given stmcture Is 2

1-
ectlon ] (40 Marks)

U{ ‘questions from this sectlon
i

werzds growing in an aqua

!
rium were seen active

5]

ty

aS studled in plants.

In (i)

Wrile the chemical reaction for lhe process mentioned in ('t)

lo ldenﬂfy the gas released in the above process.
e in the rate of bubble avolutmn if a pinch of sodium

he, aquanum ‘waler? Give reason 1o support your.

;
;
| (5]
and 3.

)

lsed for2 and 3?
Mention the structural and ﬁgdlonal unit of kidney

{
'
1
i

lghﬂy. lower lavel than the I_efli?

B kel
i

a) Study the diagram gwen below

Name the blood vessels Ia
Several hours after a mea
which blood vessel will con
of urea?

Which blood vessel
concentration of amino ach
meal?

- i) In which blood i

oxyhaemoglobin?

i)
i)

if)

b) Glven below Is the diagram o
carefully and answer the follo
i) Name and define the phys
it) Whal isthe aim of the expe

i) What woutd you observe in |he experimantal set up
after an hour? Give reason fo support your answer.
iv) Mention any two adaptations fou.Lnd in plants to

overcome the physiological
above.

and
; I N
led B,C,EandG.

noptalning a lot of*protin,
in tho highest eoncentration !

| answer the.follopzing' qu cThons

»

id, contain the highest
and glucose soon afler a

e3{ of Bod

|
tart. Study the diagram
O

an: experiment just at the s

g cpuestlons.
ical process studied.

ment?

pmcess mentioned in {J)
1
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Questlon 4; 3
a) Study the diagmm given and answer

Name the four nitrogenous bases lhgl fonn 'a DNA

" b) In order to studyrthe process of osmosis threi
e different solutions. After 24_ hours

served. The following diagram shows
same and answer the questions that

‘ l

molecule.

Expand: DNAE

Namae the unit of heredity.
Differentiate between Mitosis and Meiosis ¢n

of following ponnts J
1) Number of chromosomes in daughler

' 2) Variation

put inlo three' dlfTerent beakers contamlng th
change in the sizes of the potato cubes was ob
+  the result of the same expenmenl Study the

the quesliL»ns that follow:

cells.

the basis

polato cubes were taken and were

5]

ains the same. Explain the reason in

respect to the following points, which

follow:
8
2
o3
~
P24
W
Q
=
i) Givethe tec |cal terms of the soluuons used in beakers 1, 2 ahd 3.
ii) In beaker 3 the saza of the potato cube frem
' brief. f : ‘
i)~ State specific features of the rool hair with
help in absorptiofl of waler. )
1. Cellsap '
|
- 2. Cell walll .
“iv)  How does a cTn wall and cell membrang diffpr in their permeability?
Questions o .

_H)—R'pme breeding’ plant bearing purpk?ﬂowers :md round seeds was crossed with a

pure breeding plslanl bearing white flowers ‘and
produces all plants beanng purple flowers and rpund seeds.

wnnkled seeds. The F1 generahon
()

he possible: phenotype of the F2

i)  Which are the domlnant traits?
i)  Wrile the genotype of the F1 generalion
ili)' . Il F1 plants lare .self-pollinated Identify3
............ ' generation. '
iv)  inwhat phenolypic ralio the offspnng of F? qeneraﬁon would be?
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b) Name the endocrine gland ;

diseases/ disorders.
i) Myxoedema
i)  Acromegaly
iil)  Diabetes Insipidus
iv)  Hypoglycaemia
v)

Cushing's Syndrome

Question 6:
a) Study the diagram given and af
i)

- Nervous system?

iii)

iv)  How are the parts of the
arranged in Aand C?

v) Expand: CSF.

b) State any two specific characte

c) Wirite a short note on Abscisiq
following points:
1. Site of synthesis

2. Role in seed development
3. Role in increasing tolerarce

lQuast!on 7
a) Draw a neat labelled diagram of
b) Name Ihe parts labelled 1-6 in i

T
[

What are the structural gnd 'functJonal units of--

Name the paris labelled A, B,
State the chief function of parts IlabeNed A and B.

|

ind their hormones responsible for the following
[5)

i |
|
swer the questions that follow:

[5]

!

=
C in the diagram.

_ |
units mentioned in (i) ,
L A

¥stics of Human ancestor: Australopithecus.
acid as plant growth hormo:ne with respect to the

13)

[2]

5
of a plant to less availabllit?y of water.

(2
[3]

female reproduclive system.

he diagram

Al

c) Define the following terms:
i) Demography
'd) Study the dlagram and answeril

i)
picture alongside.

ii)y State any two sources

* mentioned In (i)

Wrile two ways in which thi

controlled.

i)

Identify the type of pollutio

) All the Best

i

Population densu:y
|

i)
he dueshons that follow:

n depicted inthe KSR

of :the pollution

; pdjluﬁon can be
j ‘
]

- ,5,
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